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BN - ZE - S - HIRAY - BSES il &t o BlmE2
OXZelalH)| | 2tel 6,000
02 2324| 170,000 40,000 130,000
OFAME JIAZ 40,000
OHZSESUASH 2/l 130,000
301 LEB A= 5,000 0 5,000
09 SAtAHIEAE 5,000 0 5,000
OFIIZL BRA LK At 5,000
401 Al EHIZLSOHY] 62,000 0 62,000
01 Al&dl 62,000 0 62,000
ORLHAE Zelal JHg HEAIE &R 62,000
405 XHHFSH| 165,000 25,000 140,000
01 AL ESEF = 165,000 25,000 140,000
OLAEZ AIRXt & 5,000
OXHIBRY EXZsD| ¢ 10,000
OFAANE(2L) 012A 2 150,000
SEZYRFH S 2,063,119 1,875,459 187,660
204 R4 AH| 797,520 755,520 42,000
03 EZg=R2| 797,520 755,520 42,000
Oerest| 794,400
OSFALHEESRE 3,120
307 g12+0|& 1,265,599 1,119,939 145,660
07 A3X=3 1,265,599 1,119,939 145,660
ogzxN=3 1,265,599
oM 2ARE= 562,819
oMoiFES 39,780
OMIERIZ 663,000
SHE2HAYI (LA (DIEH JIEH 178,894,923 165,246,283 13,648,640
= 38,489
Xl 504,3%4
L= 178,352,040
el A| 178,876,763 165,229,083 13,647,680
= 38,489
Xl 504,394
L= 178,333,880
QI 23| 178,333,880 164,709,980 13,623,900
101 @124d| 107,696,640 94,383,190 13,313,450
01 8=+ 101,116,250 91,744,251 9,371,999
OJlZs 76,406,250
o=Z(H=HI) 32,425,432
SXIAL 121,691,000 x1H1/2 60,846
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el QI 2| (e &
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t
= 92,576,000& %1 92,576
= 94,882,000 *2H 189,764
= 86,585,000&*17Y 1,471,945
= 76,767,000 x82H 6,294,894
53 63,728,000& 309 19,691,952
B 79,774,0008*14Y 1,116,836
A &2 74,526,0002x2H 149,052
MEFF2A02) 49,800,000&*1 49,800
S 37,485,417,000%6.0% 2,249,126
HIASIHS 4,340, 150,000%4. 1% 177,947
pSE=] Falsll 29,356,457,000%3.0% 880,694
os=z(&=H) 40,597,678
6= 3,597, 100&*516H 128 22,273,244
e= 2,911,400&x433H 128 15,127,635
= 2,120,900 346123 1,170,737
9= 1,530, 700217+ 12& 312,263
A=Al 2,864,000&*7H 128 240,576
dEZE2 L2 3,461,500&*7H 128 290,766
X LIHEHI 39,415,221,000& *3% 1,182,457
o&{0i3 3,383, 140
H2sg 40,597,678,000&%1.0/12 3,383, 140
o= 16,385,025
oEWNARTY 8,851,957
AZIRI2RE
11,0743 %1,376 B *47 A 2+x12E%1.03 8,851,957
[opSEL R = 4,199,3%
NEEY 768,000
R EON; 40,0003 623+ 123 299,040
PN 60,0002 214+ 123 154,080
~AITHXHAOI= 100,000&*40%H 123 48,000
-JIEt 20,000&*1, 112« 12& 266,880
AESHIEEE 411,031
-1Ss 467,080 *220H 43| 411,031
F2FEoHta 1,010,880
-20E0/ 4 100, 0002 *488+ 122 585,600
-15E0l& 20 0] 2t
80,0003+ 166+ 12& 159,360
-10&0/4& 15E0(2¢
60,0002 x276H* 12 198,720
-540[4& 104018 50,0002*112%*123 67,200
HIFEFOPDE 112,800
-25E0| 4 30,0003 *226%+ 123 81,360
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HezResy 785,627
-43 5,139, 550813244, 1%+ 122 7,586
5= 4,266,5353 %3534 . 1%+ 12 73,470
-6= 3,744,0003 %247 B *4 1%+ 12& 454,986
-2 3,040,000&*157H*4 1%+ 12& 234,822
-8=2 2,275,000& x5 4 1% 128 5,597
~1AL 3,105, 000462 4. 13+ 122 9,166
2e|gR=E 5,179, 9603 16 +9%* 122 89,510
Jed=2=Y 225,840
52014 50,0008% 11724122 70,200
63, 72 30,0008%41424+ 122 149,040
-820I5t 20,00081%25% 128 6,000
—XIAt 50,0003 «1H*122 600
JIsEEsE JRtE 161,160
“JIZAL 50,0008 +25% 128 15,000
IALIISE 30,0002%33824 122 121,680
araig==DIDN; 20,0003 90~ 12& 21,600
-2d6~7=2 20,0002 +8H*12& 1,920
-288-93 10,0008 8%+ 128 960
S4EQeY 74,040
~SAR4cH(DAYR)
30,0003 12 *12& 4,320
~SAR2LL(ABISXYR)
70, 000257224 1284 60,480
~SARDAL(AN) 20,0008+ 12x128 240
~SHERLY JlE
30,0003 x25E*12& 9,000
CSYHRE 9,204
2SS A 50,000 ~2H*122 1,200
—gald sH(53014)
82,0008 1%+128 984
-HelH &4 (62015H)
65,0003 ~9H* 122 7,020
ARG P 80,000&+5E*12& 4,800
HLERS DR 35,400
-32 2000008+ 124+ 128 2,400
-5 50,0002 x5S+ 123 3,000
-IHt= 500,000&*5H 123 30,000
H2AP=E 70,0003 26~ 12& 21,840
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Hel2R4=gf 234,442
-S40 (53) 3,237,840 % 1+ 122 38,855
-SR0S (53) 3,100,860 * 12122 37,211
-HIEY(53) 2,904,000 %1 *122 34,848
-01=2(53) 3,391,200 %16 +122 40,695
-24=2(63) 3,921,860 %1% +122 47,063
—QIZUIAIOF XIDI2EHSS)
2,980,800 * 12122 35,770
s 65,524
-S246H (53 IR
809,460 1% 122 9,714
-S2AH(XHA) 72,0002 %2 * 12 1,728
-S2AS(53 IR
775,220 % 1+ 12 9,303
-E2AE(XHH) 72,0002« 1128 864
-01=2(53 HHRAH 847,800« 1%+ 12& 10,174
-01=2(XHH) 72,0002 %1122 864
-HIEL (53 IR
726,000 % 12+ 122 8,712
-HIEEH(XHH) 72,0002« 1128 864
-2=2(63 HIRAH 980,470« 1+ 12& 11,766
~U2(XHH) 72,0002 %2 * 12 1,728
—QIZHIAIOF RIDIZ2EHSS HHSRAH)
745, 20024 % 1+ 122 8,943
-QIZHIAIOF KIDF2EH XHA)
72,0002« 1+12& 864
TREALGE 247,131
-S40 (53) 3,744,000+ 12& 44,928
-E24E(53) 2,848,500+ 12& 34,182
-HIEY(53) 3,540,000+ 12& 42,480
-01=2(53) 3,300,000+ 12& 39,600
-4=2(63) 4,173,720+ 128 50,085
—QIZUIAIOF XIDI2EHS)
2,988,000+ 12& 35,856
JUELTES= 25,920
-01=2(53) 720,000 2%+ 12& 17,280
—QIZHIAIOF XI2I2EHSS)
720,000 %12+ 122 8,640
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-Olzd| X 264,0003*25% 123 79,200
oI |2ASAHIRATE 567,455
X XHE| 499,199
-01= S(53013H)
2,924,9403+10E 123 350,993
OIR(FREY, 42014)
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ZHIZ2(01EH 1,320,000&*12Z 15,840
o &t AX} =5 100,000
Sl st 100,000,000 100,000
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oRYIRATY 50,0002 150123 90,000
0B UIEI R =G 40,000,000 40 1,600,000
O&EHug A 130,000& 1,521+ 12& 2,372,760
OEEFIHI 42,004,670,000& /128 *120% 4,200,467
OS2 4| 66,662,714,0002 *86%/360+11 1,751,748
02 J|IEHAE= 1,590,794 1,530,209 60,585
OLIIH 1,562,505
== 1,301,868
HLSEEL 70,460,000 * 1 70,460
o= 67,605,000& 2 135,210
6= 53, 158,000&* 10 531,580
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8= 38,564,0002 4% 154,256
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otESE 5,040
BH<2 Kt 40,0002 x8H* 123 3,840
JIEt 20,0003 *5%F 128 1,200
0HEFIHI 1,632,360+ 11 17,956
oHE2Z2E 10,755 *336 A2t 11H 39,751
oxY22E 10,755 *x8AI 2282 * 11 26,501
(@IE=35k=: 1= 57,427
OMTHEE = 5,064
OZ0HAZRE 3 408,630,000 *4.5% 18,389
O=0IHLEHRYZ 408,630,000 *3.06% 12,505
OFIYLEREHZ 12,505,000 *6.55% 820
OEI=Z(EH) 290,682
Ol N2 (&) 8,327
OXMIMEl S 4,187,752
204 2= AY| 3,564,336 3,357,975 206,361
02 g EXH| 3,564,336 3,357,975 206,361
OS2 X 3,564,336
o KIAt 950,000 1H+6& 5,700
0 KIAt 750,0003 2%+ 12& 18,000
02z 650,000&*3+12& 23,400
03= 500,000&*17H*12H 102,000
od= 400,0003+82Y+ 123 393,600
b= 250,000 *309H 128 927,000
6= 155,000 *516 122 959,760
o’ 140,000 *433H+ 122 727,440
08=2,9= 125,000 +63H 128 4,500
o7z, K=& 250,000 16+ 123 48,000
oATAL, KIS A} 155,000 712 13,020
oMdEZH 2 Iz 250,0003* 18+ 12& 3,000
od=zdd 2 L 155,000 74122 13,020
oJIMl 5= 400,000 x2E*12& 9,600
oJIMl 6= 250,000x10Fx12& 30,000
o2JIM 72 155,000 8122 14,880
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otAZ R 300,000&*30H+12& 108,000

- 364 -




SA CLARY
. AY2IZYI(AAR) (I1EHIIEH
chol: olzteoy| (=R
SH - BB SRA(SH) - MTAR - BaS ofl et o HI DS
oFAZE(30H 014) 165,000 +6& 122 11,160
OB AZE(23E 0430 0IDH)
140,000 118 * 12 18,480
oMAZE(23E 0I&) 125,000 x20E 123 30,000
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10,414,260,000& *6.. 55% 682,135
AL B X2 38,489 38,753 N264
= 38,489
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OolAg=(244l) 38,489
= 38,489
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Xl 184,116
101 12| 184,116 161,272 22,844
N 184,116
01 2= 184,116 161,272 22,844
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SEAZI|Z NL0IE AR == 218 oAd] X2 320,278 319,078 1,200
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01 2= 320,278 319,078 1,200
OSE:FI |2 XLO0I™ AP =-(2l12H]) 320,278
Xl 320,278
Jl=3Hl 18,160 17,200 960
o=l 18, 160 17,200 960
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= 29,013
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= 23,519
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= 23,519
= 23,519
02 QB LAHE L 47,038 42,070 4,968
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= 23,519
= 23,519
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= 468,877
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01 HRHHBSEXS 593,077 532,000 61,077
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= 124,200
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03 A2 14,000 10,000 4,000
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01 2d= 820,000 800,000 20,000
O(ANZHEE NHASAE 22 820,000
307 2lZhold 10,000 10,000 0
02 QI AAIEE X 10,000 10,000 0
OZY THESA UERAT 2t=)| 10,000
N SA gdst TI(XIY) 94,000 94,000 0
308 MXIHHSOIH 94,000 94,000 0
01 XN B E LS 94,000 94,000 0
OAlZ NHESAHES X2 72,000
OXASAIR A== 22,000
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Oget+=EH| S 11,520
202 Oid| 1,890 1,890 0
01 =LHOAYI 1,890 1,890 0
OAIJIEZEN ZAF OH| 1,890
203 HRF=4| 800 1,000 A200
03 AIHF=XHR A 800 1,000 A200
OAJIEEH ZAF AIRFE 800
KNEASH 28 N 16,550 16,650 2100
201 B2 9,100 9,100 0
01 AtR2teltl 9,100 9,100 0
Oggt==2H| 9,100
202 Oid| 6,050 6,050 0
01 =LHOAYI 6,050 6,050 0
OXZASH SHESR ol 6,050
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A ME

HE: NEWH HE(LUDDT/ XYY - HIXY)
CI9l: NUA DE Sals 2 NYASH 29 (el &e)
BN - ZE - S - HIRAY - BSES il &t o BlmE2

203 HRF=4b| 1,400 1,500 A100

03 AIHZ=XAHR A 1,400 1,500 A100
OXZASH SR AIRFA 1,400

M2l=gel 88 23 51,777 41,407 10,370

M2l=ge S8& 2IXIA 15,307 15,407 A100

201 B2 7,467 7,467 0

01 AtR2teld] 7,467 7,467 0
Oget+=&H| S 7,467

202 Oid| 6,440 6,440 0

01 =LHOAYI 6,440 6,440 0
OAN2l=g &= (bl 6,440

203 HRF=4b| 1,400 1,500 A100

03 AIHZ=XHR A 1,400 1,500 A100
ONI2l=g AlZ =&l 1,400

N2l==2 HFAIZ 2 10,000 0 10,000

303 A= 10,000 0 10,000

01 Z&3 10,000 0 10,000
OAMl2l=g Mg J+iat= 10,000

M= EEAIAE 2 26,470 26,000 470

308 KXISHHISOIH 26,470 26,000 470

10 2712 S0 & E S AH| 26,470 26,000 470
ONQ+LEBAIAE S| 2t 26,470

KA HHME 2 68,956 69,056 A100

KAl 2MAE 2SS X3 68,956 69,056 A100

201 B2 61,106 61,106 0

01 AtR2teltl 61,106 61,106 0
Oget+=&H| S 2,160
O2g+4 58,946

202 (44| 6,450 6,450 0

01 =2LHO LI 6,450 6,450 0
OXIZAl FHSL 0] 6,450

203 HRF=4| 1,400 1,500 2100

03 AR F=R AR Z=LAY| 1,400 1,500 2100
OXZAl HHHR AR =8 1,400

SEIUAl 73 HSZA 118,100 99,500 18,600

SEIUAFE HFEAL 2SI 48,100 49,500 21,400

201 B2 11,200 14,400 23,200
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M AED
HE: NEWY E(LUDDHT/ ML - YN
CH9l: DHBM PE MSEA (Sroy: m21)
BN - ZE - S - HIRAY - BSES il &t o BlmE2
01 AtR2teltl 11,200 14,400 23,200
Oget+=&H| S 11,200
202 Oid| 35,100 33,100 2,000
01 =2LHOA LI 35,100 33,100 2,000
ONISZAL S22 0ddl 35,100
203 HRF4| 1,800 2,000 A200
03 AR F=R AR =EAH| 1,800 2,000 A200
OZBE Al & NRZAE AR =& 1,800
KAl AISRZEA 70,000 50,000 20,000
303 Za= 70,000 50,000 20,000
01 Z&3 70,000 50,000 20,000
OE=F, 2HAE g= Za= 70,000
KA Mg xAst 113,517 49,517 64,000
KA =asct 2HAIRA 33,517 19,517 14,000
201 LB 16,777 6,577 10,200
01 AR2teld| 16,777 6,577 10,200
Oget=ZH| S 16,777
202 (44| 15,140 11,140 4,000
01 =LHOA LI 15,140 11,140 4,000
Oxged d= U AZRE 23 o] 15,140
203 HRF=4| 1,600 1,800 A200
03 AIHZ=XHR A 1,600 1,800 A200
ONEH =R AR F& 1,600
KAl HEAIZ 23 80,000 30,000 50,000
303 A= 80,000 30,000 50,000
01 Z&3 80,000 30,000 50,000
O AsEaz 80,000
CH AN (LITHA/XLHE - WEXR) 43,575,125 48,110,000 A4,534,875
N EeSEaME =) 43,575,125 48,110,000 A4,534,875
Sy [EeSEamE =) 43,575,125 48,110,000 A4,534,875
308 RHXISXISOI&E 43,575,125 48,110,000 A4,534,875
02 =23 43,575,125 48,110,000 A4,534,875
OZAM H+=nS= 43,575,125
NLDEN 8E5(RF/FROILESSUK) 421,113,000 393,234,000 27,879,000
NLWSM HE 421,113,000 393,234,000 27,879,000
NYUSA dE 421,113,000 393,234,000 27,879,000
703 W=HIEEIHEES 421,113,000 393,234,000 27,879,000
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A MED
M NLwsSH 8E(LS/FROILESSUSK)
celr NLnsA 8= (9 &)
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t
01 HENES 421,113,000 393,234,000 27,879,000
OXNgu=sH M&3 421,113,000
HH2AZHI(MIF D) (JIEHJIE 28,212 23,792 4,420
Jl2Z| 28,212 23,792 4,420
J|2&l 28,212 23,792 4,420
201 LEt2HH| 12,615 12,615 0
01 AtR2teld] 9,354 9,354 0
Oget=24| S 9,3%4
02 =324I 3,261 3,261 0
O3323 & HMA 3,261
202 o4t 10,797 6,977 3,820
01 =W 04| 10,797 6,977 3,820
FNESESR F& 10,797
203 HRF=&| 4,800 4,200 600
04 EA2ILRFEI 4,800 4,200 600
ONEL 2¢ 4,800
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A

@
i’
oF
ol

-~

KI0

Hlw

974,433

961,252

213,700
13,700

2,400
2,400

653,840
653,840

6,000

ST
Ofl &koH

8,478,262

6,405,114

100,800
100,800

70,200

16,400
53,800

2,000
2,000
4,500
4,500
8,000
8,000

1,483,260
1,483,260

273,900

Ofl &4

9,452,695

m

24,000

9,428,695
7,366,366

m

24,000
7,342,366
87,100
87,100

70,200

16,400
16,400
53,800
53,800

2,000
2,000
2,000
4,500
4,500
4,500
10,400
10,400
10,400

2,137,100

2,137,100

279,900

F SRI(B1) - HIRAKY - BES

L

=M

|4 ot

&0
0K
oJ
oll

01 AtR22teld|

ulo
o

H0
H0

t

01 =LHAOLI
01 =4l
11 JIE

202 Odd|
206 =4I

30
0B

ot XA S AHAL

Xl
=

ol

0

by

&0
]3]
J
oll

6,000
A1,000
21,000
641,000

648,840

31,900
11,800
11,800
3,400
3,400

242,000

1,194,160
1,180,000

31,900
31,900
10,800
10,800
10,800
3,400
3,400
2,400
1,000
1,843,000

248,000

248,000
1,821,000

1,821,000
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F

sl
k
A

3

01 AtR22teld|
NSHE S
TH&E 2ke| Xt

01 20l
01 Al£H|

401 AIZHIZL 20|

202 Odd|




sy =1

M S L A 2e|(LBSIHME/ME - S 8)
ciel: 2BRALC] FEX 2 (Ers): 1)
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t

02 Zeidl 22,000 14,160 7,840
OFMSTIAIL MFAIY 22,000

Her 2 AHAME 29 241,776 226,699 15,077

SAR)| HEo = 31,000 28,000 3,000

201 LEt2FH| 27,000 24,000 3,000

01 AtR2teld] 27,000 24,000 3,000
Ogit=2H| 25,000
O=gtl 2,000

202 04| 4,000 4,000 0

01 =LHOLI 4,000 4,000 0
SAR2)| N =& FH S 4,000

Nz ¥ 24t 116,476 113,399 3,077

201 LEt2 | 91,976 89,399 2,577

01 At22telt] 91,976 71,600 20,376
Ogt===H| 63,976
Oo2d=Y 20,000
Oagtl 8,000

202 04| 19,000 20,000 A1,000

01 =LHOLI 19,000 20,000 A1,000
OZMAHR =8 = 16,000
O3} 2 s =8 5 3,000

203 YR F=&H| 4,000 4,000 0

03 AIBFRAHRFEIH| 4,000 4,000 0
ONNE ZAEARIA 2tE3l 4,000

307 2I2t01 & 1,500 0 1,500

12 QI2H0IRIE I =H| 1,500 0 1,500
OZAEAMRAZ A WS 1,500

SHE HAHE Hel 39,300 40,300 A1,000

201 LBt2 | 27,000 27,000 0

01 At22teltl 27,000 27,000 0
Ogt===H| 15,000
Oo2g=g 3,000
O=gtl 9,000

202 04| 12,300 13,300 A1,000

01 =LHOLI 12,300 13,300 A1,000
OHAAR = S 12,300

=25 M 2 37,000 27,000 10,000

201 LEt2 | 37,000 27,000 10,000

- 387 -




S ZHD
= 3

=

=

Mot el (LetssSdHE/HE - 28)

bl

CH9l: HoF U SHHE 2 (Er9l: &2)
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t

01 AtR2teld] 12,000 2,000 10,000
Ogit=2H| 12,000

02 =324I 25,000 25,000 0
OAIZEHIR X8I 25,000

HaEE 29 18,000 18,000 0

201 LB 12,000 12,000 0

01 At22teltl 12,000 12,000 0
Ogt===H| 9,000
Oagtl 3,000

202 o4 6,000 6,000 0

01 =WodL| 6,000 6,000 0
OHALL 48 S 6,000

xtErze| 436, 100 557,100 A121,000
= 24,000
= 412,100

terete| 29X 331,100 557,100 A226,000

201 LB 270,100 280,100 210,000

01 At22teltl 83,100 83,100 0
Ogt===H| 14,400
O=gtl 4,200
Ooxzedxt= 64,500

02 Z323H| 184,000 194,000 210,000
O3323 & HMA 19,000
OXtEEey| 165,000

03 A2 3,000 3,000 0
O Az235! 3,000

202 o4 26,000 27,000 A1,000

01 =WHH| 26,000 27,000 A1,000
Oxtg 228 g2 =3 26,000

405 KHaHE S| 35,000 250,000 A215,000

01 TRILEZFSHI 35,000 250,000 A215,000
O3=xE A+ 35,000

&I XtS X 204 105,000 0 105,000
= 24,000
= 81,000

405 THaHFSH| 105,000 0 105,000
= 24,000
= 81,000

01 TR EZFSHI 105,000 0 105,000
OHIIXS At <08 105,000
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A

@
i’
o
ol

-~

KI0

Hlw

A1,000

A1,000

21,000
1,000
160,202
34,202
34,202
34,202

126,000
126,000

6,000
120,000

B
CIRE:

36,500

36,500

13,000
13,000

23,500
23,500
39,529
39,529
39,529

3,736,327

3,696,798
3,682,298

40,300
3,641,998

Ofl &4

(i

24,000
81,000
35,500

iy

35,500

13,000
13,000

8,500

4,500
22,500
22,500
22,500

3,896,529

73,731
39,529
39,529
39,529
34,202
34,202
34,202

3,822,798
3,808,298

46,300
30,100
1,200
8,000
1,000
6,000
3,761,998

1,280,800

801,259
330,701

SV

* HISAFS

L

=M

- SHA(31)

A E2 el

ol

&0
]3]
J
oll

01 AtR2teld|
01 =LHOILI
01 =4l

01 AlZHI

202 Odd|

AAEE B2

206 =4I

401 AIEHILSCHE

o

O

RO

o)
&I

&0
]3]
J
oll

01 AtR22teld|

HIAl

oK

o

[0
H0

2

no
o]

<l

0 AIJt

=

(=]

E]

110,000
38,840
12,000

8,000
8,000

2,466,898
20,000

828,000
1,337,898
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i
et

ASHOEE =X

I

S
=

A2 E 3|
=
(=)

0




@
i’
oF
ol

=

-~

KI0

Hlw

267,833

267,833

27,833
27,833

240,000

ST
Ofl &koH

12,000
12,000

2,500
2,500

264,428

264,428

161,981
161,981

16,843

2,000

14,843

45,604
45,604

40,000

ol &y

5,000
7,000
10,000
10,000
10,000
211,000

14,300
12,000
12,000
12,000
2,500
2,500
2,500

532,261

532,261

189,814
189,814
189,814
157,917

6,324
2,800
2,685
4,738
7,107
4,833

160
3,250
16,843
2,000
2,000
14,843
4,843
5,000
5,000
45,604
45,604
27,000

18,604
280,000

F RIS - HISALY - B2

L

=M

At SRIHHIAIAR KX|2

ot

NZH =Al2c

2|

=
BIGl *X

<N
KO

I

t

02l

0JIEH AlE =X

202 04l

01 =LHOILI

Al

)
0d

ok

od
RO
R0
A

101 2124d|

04 JItN2Z2 RS2+

)
o
R0

o

RO

1,012,288&3 120 & +13H

ollE=

fs]

m
10k
&
fa]l

o

30
OH

o]

201 &

01 At22telH|

HIAl

al
=

no

2R

H0

OAEEHl ||

206 =4I

01 =4l

)
o
R0

o

RO

401 AlZHIZ SO

RO
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2M: 3 HD
M S L A 2e|(LBSIHME/ME - S 8)
oozl (=CR=E))
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t
01 Al&HI 280,000 40,000 240,000
OZXEEAUR +8IE (YY) A 10,000
Oxg+8 Au+=(2SXE) A 10,000
OF el 2a=2(HDIZ) HMel A 10,000
OMEIHR B+=ZAt 250,000
™ 2AZHI(2H D) (JIEHJIE 86,329 73,148 13,181
I 2| 38,369 31,508 6,861
oI 2| 38,369 31,508 6,861
101 @I244| 38,369 31,508 6,861
03 SIAHL2Z=2 2= 38,369 31,508 6,861
Ozgle] & 2e| 6,153
ollE22 1,649, 760315+ 3,300
oA RE Y 110,000 1Z2& 220
od| Y=g 57, 0422+3652 /128 x13] 1,763
o XS 57,9423 %15 870
OZgle] & 2e| 29,451
oJlE=s 1,510,520 14122 18,127
oA RE Y 110,000 * 1412 1,320
0HEFIHI 1,511
o)L= 53,363&*3652 / 12& *43] 6,492
oA=& 53,3533 15 801
otESE 100, 000&x12& 1,200
O=0d3aRe23 35,604,000 *4 . 5% 1,603
O=0HLEHREZ 35,604,000 *3.06% 1,090
OWNLRYEHREZ 1,090,000 *6.55% 72
Jl2&| 47,960 41,640 6,320
J|12&l 47,960 41,640 6,320
201 UBI2Y| 36,600 31,000 5,600
01 At22teltl 35,000 29,000 6,000
Ogt===H| 13,000
Ozl 10,000
Ogexts 12,000
02 323l 1,600 2,000 A400
O3323 & HMA 1,600
202 o4 5,300 5,300 0
01 =W0dH| 5,300 5,300 0
Ous & JI20tl 5,300
203 HRF=&| 6,060 5,340 720
04 EA2ILRFEI 6,060 5,340 720
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S 2D

M HA2AAHI(ZIAH ) (DIEHJIE)
&l: D=3l s RS
BN - ZE - S - HIRAY - BSES il &t e mES
||| O ed 6.060
HRES(3/H ) (LBSHE/MNE - 28) 2,000,000 2,000,000 0
I=RSPNES 2,000,000 2,000,000 0
WHEE SNSxF e 2,000,000 2,000,000 0
802 Bret=DIE 2,000,000 2,000,000 0
01 FNEXZLHEZ 2,000,000 2,000,000 0
Odee 208X g BHet 2,000,000
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